Math 3 Advanced
6.1 Practice Problems with KEY

Combine and simplify polynomial expressions.

1. (6zy —42? + 10y) — (—32? — 10y + 6zy)

2. (=3r%t+ 8rt? — 9r22) — (1172t — Trt? + 5r%t?)

3. (¥ -2y —4)+ (—y' -y’ +3y?)

5. (8a* — 12a%b% — Tb*) — (a* — 8a?b? — 11b%)

7. (—14k’>m + 9km — km?) — (16k*m — 4km + km?)

8. (=5a® —4x?y® + 11y°) — (1023 + 322y? — 3y°)

9. (—05 +3¢% — 7c) — (05 — 33+ 8¢)

11.  (4by + 76 — 10y?) + (3b — 3by — 8b%)

13.  (a*b—9a + 5b) + (—2ab + 3a’b — 5b)

15, (2b%y + by + by?) — (bPy — 2by — by?)

6.

10.

12.

14.

16.

(—3w? + w?y — 4y?) + (10w? — 3wy? + 4y?)

(—9a? + 8a3 — 11a) — (9a® — 12a + a?)

(4hk — hk? — 3k2) + (ThK? + 2h%k + k?)

(2a%b + 4ab — ab®) + (—5a® — 2a®b — 3ab?)

(—k* — 6k + 9k) + (k° + k* + 2K3)

(—=5by? + 3b%y — 5y) + (—2by? — 5by + Ty)
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Answer List

1. —z?420y 2. 8t + 15rt? — 14022

3. —yt+3yt-2y—4 4. Tw? 4+ wly — 3wy?

5. Ta* — 4a®b? + 4b* 6. —a®—10a’>+a

7. —30k*m + 13km — 2km? 8. —15¢3 — To2y? + 149°

9. —2¢°+6¢% — 15¢ 10.  6hk? + 2h%k + 4hk — 2k?
11. by —b* + 3b— 10y? 12. —5a® + 4ab — 4ab?

13. 4a’b —2ab—9a 14. k5 —4K% + 9k

15.  b%y + 3by + 2by2 16. —T7by? + 3b%y — 5by + 2y



